

NEW PERSPECTIVES ON BILATERAL INEQUALITIES FOR FUSION FRAMES IN HILBERT SPACES

ZHONG-QI XIANG*, YU-XIAN CHEN AND CHUN-XIA LIN

(Communicated by I. Perić)

Abstract. We provide a new approach to the proofs of some existing bilateral inequalities for fusion frames in Hilbert spaces from the perspective of function theory, which greatly simplifies the proving process and shows that the parameter involving in four of the results mentioned can take values from larger ranges. We also present an improvement to two results on this topic. At the end of the paper we establish several new bilateral inequalities for fusion frames in Hilbert spaces, following the approaches of which corresponding bilateral inequalities for some other generalized frames with new types of structures can be naturally obtained.

1. Introduction

Throughout the paper, the notations \mathbb{R} , \mathbb{I} and \mathcal{N} are used to denote, respectively, the set of real numbers, a countable index set and a Hilbert space. For a closed subspace \mathcal{W} of \mathcal{N} , we denote by $\pi_{\mathcal{W}}$ the orthogonal projection onto \mathcal{W} .

Frames put forward in the paper [12], as a brand-new and powerful tool, were originally used to process some profound problems deriving in nonharmonic Fourier series, which were brought back to people's vision by Daubechies et al. [11] owing to their groundbreaking work on wavelets. Thanks to some of their nice properties, frames have already been applied to many research fields (see [3, 10, 19, 21] for example). We refer also to [9] for more details about frame theory.

The notion of fusion frames (called also frames of subspaces), as a generalization of frames, was introduced independently by Casazza and Kutyniok in [6] and Fornasier in [13], when dedicating their effort to examine some large systems. Because of the complicated structure, fusion frames do admit some new behaviors compared to frames, which makes the study of them interesting. The reader can consult, for example, the papers [4, 5, 7, 8] for applications of fusion frames.

Suppose \mathcal{M}_i is a closed subspace of \mathcal{N} for any $i \in \mathbb{I}$, and $\{\beta_i\}_{i \in \mathbb{I}}$ is a sequence of weights (each $\beta_i > 0$). The family $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is said to be a *fusion frame* for \mathcal{N} , if there are numbers $0 < C_{\mathcal{M}} \leq D_{\mathcal{M}} < \infty$ so that the bilateral inequality

$$C_{\mathcal{M}}\|x\|^2 \leq \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \leq D_{\mathcal{M}}\|x\|^2 \quad (1)$$

Mathematics subject classification (2020): 42C15, 42C40, 46C50, 47B40.

Keywords and phrases: Fusion frame, orthogonal projection, bilateral inequality.

This research is supported by the National Natural Science Foundation of China (Grant No. 12361028).

* Corresponding author.

holds for any $x \in \mathcal{N}$. We call $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ a *Bessel fusion sequence* if only the inequality on the right hand side of (1) is assumed to be satisfied.

Given a fusion frame $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ for \mathcal{N} , we can define a linear bounded operator $U_{\mathcal{M}}$, called the *analysis operator* of \mathcal{M} , in the following way

$$U_{\mathcal{M}} : \mathcal{N} \rightarrow \left(\sum_{i \in \mathbb{I}} \oplus \mathcal{M}_i \right)_{\ell^2}, \quad U_{\mathcal{M}} x = \{\beta_i \pi_{\mathcal{M}_i}(x)\}_{i \in \mathbb{I}}, \quad (2)$$

where $(\sum_{i \in \mathbb{I}} \oplus \mathcal{M}_i)_{\ell^2}$ is the Hilbert space defined by

$$\left(\sum_{i \in \mathbb{I}} \oplus \mathcal{M}_i \right)_{\ell^2} = \left\{ \{g_i\}_{i \in \mathbb{I}} \mid g_i \in \mathcal{M}_i, \|\{g_i\}_{i \in \mathbb{I}}\|_2^2 = \sum_{i \in \mathbb{I}} \|g_i\|^2 < \infty \right\}.$$

Further, a self-adjoint and invertible operator $S_{\mathcal{M}}$, namely the *fusion frame operator* of \mathcal{M} , can be obtained if we take a compositional operation on $U_{\mathcal{M}}^*$ and $U_{\mathcal{M}}$:

$$S_{\mathcal{M}} : \mathcal{N} \rightarrow \mathcal{N}, \quad S_{\mathcal{M}} x = U_{\mathcal{M}}^* U_{\mathcal{M}} x = \sum_{i \in \mathbb{I}} \beta_i^2 \pi_{\mathcal{M}_i}(x), \quad \forall x \in \mathcal{N}, \quad (3)$$

which thereby leads to the so-called *reconstruction formula*:

$$x = \sum_{i \in \mathbb{I}} \beta_i^2 S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) = \sum_{i \in \mathbb{I}} \beta_i^2 \pi_{\mathcal{M}_i}(S_{\mathcal{M}}^{-1} x), \quad \forall x \in \mathcal{N}. \quad (4)$$

Recall also that the family $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1} \mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is still a fusion frame for \mathcal{N} (see [16]), which is called the *dual fusion frame* of \mathcal{M} .

For each $\tau \subset \mathbb{I}$, there are two self-adjoint operators related to τ , and τ^c , the complementary set of τ , and the fusion frame $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ for \mathcal{N} , given below

$$S_{\mathcal{M}}^{\tau}, S_{\mathcal{M}}^{\tau^c} : \mathcal{N} \rightarrow \mathcal{N}, \quad S_{\mathcal{M}}^{\tau} x = \sum_{i \in \tau} \beta_i^2 \pi_{\mathcal{M}_i}(x), \quad S_{\mathcal{M}}^{\tau^c} x = \sum_{i \in \tau^c} \beta_i^2 \pi_{\mathcal{M}_i}(x). \quad (5)$$

It is clear that $S_{\mathcal{M}}^{\tau} + S_{\mathcal{M}}^{\tau^c} = S_{\mathcal{M}}$.

Let $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ and $\mathcal{P} = \{(\mathcal{P}_i, v_i)\}_{i \in \mathbb{I}}$ be respectively a fusion frame and a Bessel fusion sequence for \mathcal{N} . One calls \mathcal{P} an *alternate dual fusion frame* of \mathcal{M} , if for each $x \in \mathcal{N}$ we have

$$x = \sum_{i \in \mathbb{I}} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x). \quad (6)$$

Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} and $\mathcal{P} = \{(\mathcal{P}_i, v_i)\}_{i \in \mathbb{I}}$ is an alternate dual fusion frame of \mathcal{M} . Then associated with any $\tau \subset \mathbb{I}$ and the pair $(\mathcal{M}, \mathcal{P})$, there are two linear bounded operators $W^{\tau}, W^{\tau^c} : \mathcal{N} \rightarrow \mathcal{N}$ defined by

$$W^{\tau} x = \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \quad W^{\tau^c} x = \sum_{i \in \tau^c} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \quad \forall x \in \mathcal{N}. \quad (7)$$

Inequalities for frames were first studied by Balan et al. in [2], where an interesting inequality for Parseval frames was presented (see [2, Proposition 4.1]). Assisted by the corresponding canonical dual frames and alternate dual frames, Găvruta later extended the inequality to the case of general frames (see [15, Theorems 2.2 and 3.2]).

In recent years, much attention has been paid to the generalization of the frame inequalities and particularly, Poria [20] provided us with a new type of inequalities for Hilbert-Schmidt frames, which are related to a parameter taking values from intervals (see [20, Theorems 3.5 and 3.7]). In the light of the idea of Poria, Li et al. in [17] showed us several more general inequalities (bilateral inequalities associated with a parameter λ) for fusion frames (proved by means of the idea offered in [20]).

THEOREM 1. (see [17, Theorem 3]) *Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1}\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for all $\lambda \in [0, 2]$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have*

$$\begin{aligned} \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 &\geq \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau}(x)\|^2 \\ &= \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 \\ &\geq \left(\lambda - \frac{\lambda^2}{4}\right) \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + \left(1 - \frac{\lambda^2}{4}\right) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (8)$$

THEOREM 2. (see [17, Theorem 5]) *Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1}\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for all $\lambda \in [1, 2]$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have*

$$\begin{aligned} 0 &\leq \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau}(x)\|^2 \\ &\leq (\lambda - 1) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + \left(1 - \frac{\lambda}{2}\right)^2 \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (9)$$

THEOREM 3. (see [17, Theorem 6]) *Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1}\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for all $\lambda \in [1, 2]$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have*

$$\begin{aligned} &\left(2\lambda - \frac{\lambda^2}{2} - 1\right) \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + \left(1 - \frac{\lambda^2}{2}\right) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ &\leq \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau}(x)\|^2 + \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 \\ &\leq \lambda \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (10)$$

Bilateral inequalities for some other frame versions also emerged (see for example, the papers [14, 18, 24]), which, however, share the same structures as the ones in [17]. Given this, the authors in [22] explored bilateral inequalities possessing new structures for fusion frames, and the main results obtained are as follows.

THEOREM 4. (see [22, Theorem 1]) *Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1}\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the*

dual fusion frame of \mathcal{M} . Then for every $\lambda \in [1, +\infty)$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} & \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - \lambda \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ & \leq \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 - \lambda \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 \\ & \leq (\lambda^3 - \lambda^2 + 1) \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (\lambda^3 - 3\lambda^2 + 2\lambda - 1) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (11)$$

THEOREM 5. (see [22, Theorem 2]) Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1} \mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for every $\lambda \in [\frac{1}{2}, +\infty)$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} & (4\lambda - 1) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 + (1 - \lambda^2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ & \leq \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (1 + 2\lambda) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ & \leq \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 + (1 + \lambda^2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (12)$$

THEOREM 6. (see [22, Theorem 3]) Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1} \mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for every $\lambda \in \mathbb{R}$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} & (1 + 2\lambda) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - (1 + \lambda^2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ & \leq \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 - \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ & \leq (3 - 2\lambda) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (\lambda^2 - 1) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (13)$$

THEOREM 7. (see [22, Theorem 4]) Let $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ be a fusion frame for \mathcal{N} and $\mathcal{P} = \{(\mathcal{P}_i, v_i)\}_{i \in \mathbb{I}}$ be an alternate dual fusion frame of \mathcal{M} . Then for each $\lambda \in [0, 1]$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} & (\lambda - \lambda^2) \left\| \sum_{i \in \mathbb{I}} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 - \lambda \operatorname{Re} \sum_{i \in \tau^c} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\ & \leq \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 - \lambda \operatorname{Re} \sum_{i \in \tau} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\ & \leq \frac{\lambda (\|W^{\tau} - W^{\tau^c}\|^2 - 1) + 4(1 - \lambda) \|W^{\tau}\|^2}{4} \|x\|^2. \end{aligned} \quad (14)$$

THEOREM 8. (see [22, Theorem 5]) *Let $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ be a fusion frame for \mathcal{N} and $\mathcal{P} = \{(\mathcal{P}_i, v_i)\}_{i \in \mathbb{I}}$ be an alternate dual fusion frame of \mathcal{M} . Then for each $\lambda \in [0, \frac{1}{2}]$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have*

$$\begin{aligned} & (2\lambda - \lambda^2) \left\| \sum_{i \in \mathbb{I}} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 \\ & \leq \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 + 2\lambda \operatorname{Re} \sum_{i \in \tau^c} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\ & \leq \frac{3\lambda + 2(1 - 2\lambda) \|W^\tau\|^2 + \lambda \|W^\tau - W^{\tau^c}\|^2}{2} \|x\|^2. \end{aligned} \quad (15)$$

After a careful examination of above results, we found the following facts:

(1) The proofs of Theorems 1–6 are entirely dependent on results about linear bounded operators (i.e. [17, Lemmas 1 and 3] and [22, Lemma 1]), as well as the relationship of operators related to the fusion frames, making the process lengthy.

(2) As for Theorems 7 and 8, we found that the two inequalities on the left hold for any parameter belonging to \mathbb{R} , meaning that the involved intervals $[0, 1]$ and $[0, \frac{1}{2}]$ are redundant conditions for them.

Given this, in this paper we present a new approach to the proofs of Theorems 1–6 from the perspective of function theory, which can greatly simplify the proving process. And particularly, our proof method shows that the involving parameter in Theorems 1, 2, 3 and 5 can take values from larger ranges. We also provide new expressions for Theorems 7 and 8, so that the left-hand inequalities in them can be truly determined by the intervals where the parameter is taken from, and that the intervals $[0, 1]$ and $[0, \frac{1}{2}]$ in those two theorems can be extended to larger ones. Moreover, we establish several new bilateral inequalities for fusion frames in Hilbert spaces.

2. New proofs

We need to explain some symbols first. Given a fusion frame $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ for \mathcal{N} with analysis operators $U_{\mathcal{M}}$ and fusion frame operator $S_{\mathcal{M}}$ respectively, let us denote $Q = U_{\mathcal{M}} S_{\mathcal{M}}^{-1} U_{\mathcal{M}}^*$. Then, as in the classical case, Q is the orthogonal projection from $(\sum_{i \in \mathbb{I}} \oplus \mathcal{M}_i)_{\ell^2}$ onto $\operatorname{Range}(U_{\mathcal{M}})$. For any $\tau \subset \mathbb{I}$, we denote by P_τ the orthogonal projection on $(\sum_{i \in \mathbb{I}} \oplus \mathcal{M}_i)_{\ell^2}$ given by

$$P_\tau(\{y_i\}_{i \in \mathbb{I}}) = \{z_i\}_{i \in \mathbb{I}}, \quad \text{where} \quad \begin{cases} z_i = y_i & \text{if } i \in \tau, \\ z_i = 0 & \text{if } i \in \tau^c. \end{cases}$$

With the help of P_τ , the notations $S_{\mathcal{M}}^\tau$ and $S_{\mathcal{M}}^{\tau^c}$ in (5) now can be expressed respectively as $S_{\mathcal{M}}^\tau = U_{\mathcal{M}}^* P_\tau U_{\mathcal{M}}$ and $S_{\mathcal{M}}^{\tau^c} = U_{\mathcal{M}}^* P_{\tau^c}^\perp U_{\mathcal{M}}$.

2.1. New proofs of Theorems 1, 2 and 3

The aim of this section is to present new proofs to Theorems 1, 2 and 3, and to show that the intervals $[0, 2]$, $[1, 2]$ and $[1, 2]$ involved in those theorems can be respectively extended to \mathbb{R} , \mathbb{R} and $[1, +\infty)$.

2.1.1. Proof of Theorem 1

The formula (8) in Theorem 1 can be rewritten as

$$\begin{aligned}
 \|U_{\mathcal{M}}x\|^2 &\geq \|P_{\tau}^{\perp}U_{\mathcal{M}}x\|^2 + \|QP_{\tau}U_{\mathcal{M}}x\|^2 \\
 &= \|P_{\tau}U_{\mathcal{M}}x\|^2 + \|QP_{\tau}^{\perp}U_{\mathcal{M}}x\|^2 \\
 &\geq \left(\lambda - \frac{\lambda^2}{4}\right)\|P_{\tau}U_{\mathcal{M}}x\|^2 + \left(1 - \frac{\lambda^2}{4}\right)\|P_{\tau}^{\perp}U_{\mathcal{M}}x\|^2
 \end{aligned} \tag{16}$$

for each $x \in \mathcal{N}$. Denote by $y = U_{\mathcal{M}}x$ and normalize it to $\|y\| = 1$. Then $Qy = y$. The equality in (16) follows from the fact that

$$\|P_{\tau}y\|^2 - \|QP_{\tau}y\|^2 = \|Q^{\perp}P_{\tau}y\|^2 = \|Q^{\perp}P_{\tau}^{\perp}y\|^2 = \|P_{\tau}^{\perp}y\|^2 - \|QP_{\tau}^{\perp}y\|^2. \tag{17}$$

To show the inequality on the right in (16), it is equivalent to show that the quadratic function

$$f(\lambda) = \|P_{\tau}^{\perp}y\|^2 + \|QP_{\tau}y\|^2 - \left(\lambda - \frac{\lambda^2}{4}\right)\|P_{\tau}y\|^2 - \left(1 - \frac{\lambda^2}{4}\right)\|P_{\tau}^{\perp}y\|^2 \geq 0,$$

which is really the case for any $\lambda \in \mathbb{R}$, since

$$\begin{aligned}
 f(\lambda) &= \|QP_{\tau}y\|^2 - \lambda\|P_{\tau}y\|^2 + \frac{\lambda^2}{4}(\|P_{\tau}y\|^2 + \|P_{\tau}^{\perp}y\|^2) \\
 &= \frac{\lambda^2}{4} - \lambda\|P_{\tau}y\|^2 + \|QP_{\tau}y\|^2 \\
 &= \left(\frac{\lambda}{2} - \|P_{\tau}y\|^2\right)^2 + (\|QP_{\tau}y\|^2 - \|P_{\tau}y\|^4),
 \end{aligned}$$

and $\|P_{\tau}y\|^2 = \langle QP_{\tau}y, y \rangle \leq \|QP_{\tau}y\|$. For the left-hand inequality in (16), we have

$$\|P_{\tau}^{\perp}U_{\mathcal{M}}x\|^2 + \|QP_{\tau}U_{\mathcal{M}}x\|^2 \leq \|P_{\tau}^{\perp}U_{\mathcal{M}}x\|^2 + \|P_{\tau}U_{\mathcal{M}}x\|^2 = \|U_{\mathcal{M}}x\|^2$$

for any $x \in \mathcal{N}$. This concludes the proof of the theorem.

2.1.2. Proof of Theorem 2

Taking $y = U_{\mathcal{M}}x$ and normalize it to $\|y\| = 1$ for each $x \in \mathcal{N}$. Then we can rewrite the inequalities in (9) as

$$0 \leq \|P_{\tau}y\|^2 - \|QP_{\tau}y\|^2 \leq (\lambda - 1)\|P_{\tau}^{\perp}y\|^2 + \left(1 - \frac{\lambda}{2}\right)^2. \tag{18}$$

The inequality on the left is obvious. As for the right-hand inequality in (18), it is equivalent to show that

$$\begin{aligned}
 0 &\leq g(\lambda) = (\lambda - 1)\|P_\tau^\perp y\|^2 + \left(1 - \frac{\lambda}{2}\right)^2 - \|P_\tau y\|^2 + \|QP_\tau y\|^2 \\
 &= \lambda\|P_\tau^\perp y\|^2 - (\|P_\tau^\perp y\|^2 + \|P_\tau y\|^2) + \frac{\lambda^2}{4} - \lambda + 1 + \|QP_\tau y\|^2 \\
 &= \frac{\lambda^2}{4} - \lambda(1 - \|P_\tau^\perp y\|^2) + \|QP_\tau y\|^2 \\
 &= \frac{\lambda^2}{4} - \lambda\|P_\tau y\|^2 + \|QP_\tau y\|^2 = \left(\frac{\lambda}{2} - \|P_\tau y\|^2\right)^2 + (\|QP_\tau y\|^2 - \|P_\tau y\|^4),
 \end{aligned}$$

which is true for any $\lambda \in \mathbb{R}$, since $\|QP_\tau y\| \geq \|P_\tau y\|^2$ as shown in Section 2.1.1, and we are done.

2.1.3. Proof of Theorem 3

Letting $y = U_{\mathcal{M}}x$ and normalize it to $\|y\| = 1$ for all $x \in \mathcal{N}$, then the inequalities in (10) can be rewritten as

$$\left(2\lambda - \frac{\lambda^2}{2} - 1\right)\|P_\tau y\|^2 + \left(1 - \frac{\lambda^2}{2}\right)\|P_\tau^\perp y\|^2 \leq \|QP_\tau y\|^2 + \|QP_\tau^\perp y\|^2 \leq \lambda. \quad (19)$$

Obviously, the inequality on the right holds for each $\lambda \geq 1$, since

$$\|QP_\tau y\|^2 + \|QP_\tau^\perp y\|^2 \leq \|P_\tau y\|^2 + \|P_\tau^\perp y\|^2 = \|y\|^2 = 1.$$

For the left-hand inequality in (19), it is equivalent to prove that

$$h(\lambda) = \|QP_\tau y\|^2 + \|QP_\tau^\perp y\|^2 - \left(2\lambda - \frac{\lambda^2}{2} - 1\right)\|P_\tau y\|^2 - \left(1 - \frac{\lambda^2}{2}\right)\|P_\tau^\perp y\|^2 \geq 0.$$

Since

$$\|P_\tau y\|^2 - \|P_\tau^\perp y\|^2 + \|QP_\tau^\perp y\|^2 = \|QP_\tau y\|^2,$$

by (17), and $\|P_\tau y\|^4 \leq \|QP_\tau y\|^2$, it follows that

$$\begin{aligned}
 h(\lambda) &= \|QP_\tau y\|^2 + (\|QP_\tau^\perp y\|^2 + \|P_\tau y\|^2 - \|P_\tau^\perp y\|^2) \\
 &\quad - 2\lambda\|P_\tau y\|^2 + \frac{\lambda^2}{2}(\|P_\tau y\|^2 + \|P_\tau^\perp y\|^2) \\
 &= \frac{\lambda^2}{2} - 2\lambda\|P_\tau y\|^2 + 2\|QP_\tau y\|^2 \\
 &= 2\left(\frac{\lambda}{2} - \|P_\tau y\|^2\right)^2 + 2(\|QP_\tau y\|^2 - \|P_\tau y\|^4) \geq 0,
 \end{aligned}$$

and we arrive at the conclusion.

2.2. New proofs of Theorems 4, 5 and 6

The purpose of this section is to provide new proofs to Theorems 4, 5 and 6, and to show that the interval $[\frac{1}{2}, +\infty)$ involved in Theorem 5 can be extended to $[0, +\infty)$.

2.2.1. Proof of Theorem 4

The inequalities stated in (11) can be rewritten as

$$\begin{aligned} & \|P_\tau U_{\mathcal{M}x}\|^2 - \lambda \|P_\tau^\perp U_{\mathcal{M}x}\|^2 \\ & \leq \|QP_\tau U_{\mathcal{M}x}\|^2 - \lambda \|QP_\tau^\perp U_{\mathcal{M}x}\|^2 \\ & \leq (\lambda^3 - \lambda^2 + 1) \|P_\tau U_{\mathcal{M}x}\|^2 + (\lambda^3 - 3\lambda^2 + 2\lambda - 1) \|P_\tau^\perp U_{\mathcal{M}x}\|^2 \end{aligned} \quad (20)$$

for each $x \in \mathcal{N}$. Denote by $y = U_{\mathcal{M}x}$ and normalize it to $\|y\| = 1$. Then $Qy = y$. Now the left-hand inequality in (20) follows from the equality

$$\|P_\tau y\|^2 - \|QP_\tau y\|^2 = \|Q^\perp P_\tau y\|^2 = \|Q^\perp P_\tau^\perp y\|^2 = \|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^2 \quad (21)$$

for each $\lambda \geq 1$.

For the inequality on the right in (20), we know, by combining (20) with (21), that it is equivalent to

$$(1 - \lambda) \|QP_\tau^\perp y\|^2 \leq (1 - \lambda) [2\lambda \|P_\tau^\perp y\|^2 - \lambda^2]. \quad (22)$$

To show (22), it is equivalent to prove that, for $\lambda \geq 1$, the quadratic function $f(\lambda) = \lambda^2 - 2\lambda \|P_\tau^\perp y\|^2 + \|QP_\tau^\perp y\|^2 \geq 0$. Since the minimizer for $f(\lambda)$ is in $\lambda_0 = \|P_\tau^\perp y\|^2$, and $\|QP_\tau^\perp y\| \geq \|P_\tau^\perp y\|^2$, we obtain

$$f(\lambda) \geq f(\lambda_0) = (\|QP_\tau^\perp y\| - \|P_\tau^\perp y\|^2)(\|QP_\tau^\perp y\| + \|P_\tau^\perp y\|^2) \geq 0,$$

as desired.

2.2.2. Proof of Theorem 5

Letting $y = U_{\mathcal{M}x}$ and normalize it to $\|y\| = 1$ for any $x \in \mathcal{N}$. Then we can rewrite the inequalities in (12) as

$$\begin{aligned} (4\lambda - 1) \|QP_\tau^\perp y\|^2 + (1 - \lambda^2) & \leq \|P_\tau y\|^2 + (1 + 2\lambda) \|P_\tau^\perp y\|^2 \\ & \leq \|QP_\tau^\perp y\|^2 + (1 + \lambda^2). \end{aligned} \quad (23)$$

It is easy to see that the inequality on the left is equivalent to prove that

$$g(\lambda) = \lambda^2 + 2\lambda (\|P_\tau^\perp y\|^2 - 2\|QP_\tau^\perp y\|^2) + \|QP_\tau^\perp y\|^2 \geq 0,$$

which, actually, follows from the fact that

$$\begin{aligned} g(\lambda) & \geq \lambda^2 - 2\lambda \|P_\tau^\perp y\|^2 + \|QP_\tau^\perp y\|^2 \\ & = (\lambda - \|P_\tau^\perp y\|^2)^2 + (\|QP_\tau^\perp y\|^2 - \|P_\tau^\perp y\|^4) \end{aligned}$$

for each $\lambda \in [0, +\infty)$, and that $\|P_\tau^\perp y\|^2 \leq \|QP_\tau^\perp y\|^2$.

As for the right-hand inequality in (23), it is equivalent to show that

$$\begin{aligned} 0 \leq h(\lambda) &= (1 + \lambda^2) + \|QP_\tau^\perp y\|^2 - \|P_\tau y\|^2 - (1 + 2\lambda)\|P_\tau^\perp y\|^2 \\ &= \lambda^2 - 2\lambda\|P_\tau^\perp y\|^2 + (1 - \|P_\tau y\|^2 - \|P_\tau^\perp y\|^2) + \|QP_\tau^\perp y\|^2 \\ &= \lambda^2 - 2\lambda\|P_\tau^\perp y\|^2 + \|QP_\tau^\perp y\|^2, \end{aligned}$$

which has already been presented in the proof of the left-hand inequality.

2.2.3. Proof of Theorem 6

For any $x \in \mathcal{N}$, taking $y = U_{\mathcal{M}}x$ and normalize it to $\|y\| = 1$, then the inequalities in (13) can be rewritten as

$$\begin{aligned} (1 + 2\lambda)\|P_\tau^\perp y\|^2 - (1 + \lambda^2) &\leq \|QP_\tau^\perp y\|^2 - \|P_\tau y\|^2 \\ &\leq (3 - 2\lambda)\|P_\tau^\perp y\|^2 + (\lambda^2 - 1). \end{aligned} \quad (24)$$

The left-hand inequality in (24) follows from the following calculation

$$\begin{aligned} (1 + \lambda^2) + \|QP_\tau^\perp y\|^2 - \|P_\tau y\|^2 - (1 + 2\lambda)\|P_\tau^\perp y\|^2 \\ &= \lambda^2 + \|QP_\tau^\perp y\|^2 + \|P_\tau^\perp y\|^2 - (1 + 2\lambda)\|P_\tau^\perp y\|^2 \\ &= \lambda^2 - 2\lambda\|P_\tau^\perp y\|^2 + \|QP_\tau^\perp y\|^2 \\ &= (\lambda - \|P_\tau^\perp y\|^2)^2 + (\|QP_\tau^\perp y\|^2 - \|P_\tau^\perp y\|^4) \geq 0 \end{aligned}$$

for any $\lambda \in \mathbb{R}$.

For the inequality on the right in (24), it is equivalent to show that

$$h(\lambda) = (3 - 2\lambda)\|P_\tau^\perp y\|^2 + (\lambda^2 - 1) + \|P_\tau y\|^2 - \|QP_\tau^\perp y\|^2 \geq 0,$$

which is indeed true, since

$$\begin{aligned} h(\lambda) &= \lambda^2 + (3 - 2\lambda)\|P_\tau^\perp y\|^2 - \|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^2 \\ &= \lambda^2 + 2(1 - \lambda)\|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^2 \\ &= (\lambda - \|P_\tau^\perp y\|^2)^2 + (\|P_\tau^\perp y\|^2 - \|P_\tau^\perp y\|^4) + (\|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^2). \end{aligned}$$

3. Improved results

The following two results make an improvement to Theorems 7 and 8 respectively, which enables the inequalities on the left to be truly determined by the involved intervals and allows the parameter to take values from larger ranges.

THEOREM 9. *Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} , and $\mathcal{P} = \{(\mathcal{P}_i, \nu_i)\}_{i \in \mathbb{I}}$ is an alternate dual fusion frame of \mathcal{M} . Then for each $\lambda \in [0, 2]$, for any*

$\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} & (1 - \lambda - (2 - \lambda)\|W^\tau\|^2)\|x\|^2 \\ & \leq \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 - \lambda \operatorname{Re} \sum_{i \in \tau} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\ & \leq \frac{(2 - \lambda)\|W^\tau\|^2 + \lambda(\|W^{\tau^c}\|^2 - 1)}{2} \|x\|^2. \end{aligned}$$

Proof. Since $W^\tau + W^{\tau^c} = \operatorname{Id}_{\mathcal{N}}$, the identity operator on \mathcal{N} , we have, for each $\lambda \in [0, 2]$, for any $x \in \mathcal{N}$ and any $\tau \subset \mathbb{I}$, that

$$\begin{aligned} & \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 - \lambda \operatorname{Re} \sum_{i \in \tau} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\ & = \|W^\tau x\|^2 - \lambda \operatorname{Re} \langle W^\tau x, x \rangle \\ & = \|W^\tau x\|^2 + \lambda \frac{\|x - W^\tau x\|^2 - \|W^\tau x\|^2 - \|x\|^2}{2} \\ & = \frac{2\|W^\tau x\|^2 + \lambda\|W^{\tau^c} x\|^2 - \lambda\|W^\tau x\|^2 - \lambda\|x\|^2}{2} \\ & \leq \frac{(2 - \lambda)\|W^\tau\|^2 + \lambda(\|W^{\tau^c}\|^2 - 1)}{2} \|x\|^2. \end{aligned}$$

On the other hand, we obtain

$$\begin{aligned} & \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 - \lambda \operatorname{Re} \sum_{i \in \tau} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\ & = \|W^\tau x\|^2 - \lambda \operatorname{Re} \langle W^\tau x, x \rangle \\ & = \|x\|^2 + \|W^{\tau^c} x\|^2 - 2 \operatorname{Re} \langle W^{\tau^c} x, x \rangle - \lambda(\|x\|^2 - \operatorname{Re} \langle W^{\tau^c} x, x \rangle) \\ & = (1 - \lambda)\|x\|^2 + \|W^{\tau^c} x\|^2 - (2 - \lambda) \operatorname{Re} \langle W^{\tau^c} x, x \rangle \\ & \geq (1 - \lambda)\|x\|^2 - (2 - \lambda)\|W^{\tau^c}\| \|x\|^2 \\ & = (1 - \lambda - (2 - \lambda)\|W^{\tau^c}\|)\|x\|^2 \end{aligned}$$

for each $\lambda \in [0, 2]$, for any $x \in \mathcal{N}$ and any $\tau \subset \mathbb{I}$, and the proof is finished. \square

THEOREM 10. Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} , and $\mathcal{P} = \{(\mathcal{P}_i, v_i)\}_{i \in \mathbb{I}}$ is an alternate dual fusion frame of \mathcal{M} . Then for each $\lambda \in [0, 1]$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} & (1 - 2(1 - \lambda)\|W^{\tau^c}\|)\|x\|^2 \\ & \leq \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 + 2\lambda \operatorname{Re} \sum_{i \in \tau^c} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \quad (25) \\ & \leq ((1 - \lambda)\|W^\tau\|^2 + \lambda(1 + \|W^{\tau^c}\|^2))\|x\|^2. \end{aligned}$$

Proof. For each $\lambda \in [0, 1]$, for any $x \in \mathcal{N}$ and any $\tau \subset \mathbb{I}$, we can obtain the left-hand inequality in (25) by the following computation

$$\begin{aligned}
 & \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 + 2\lambda \operatorname{Re} \sum_{i \in \tau^c} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\
 &= \|W^\tau x\|^2 + 2\lambda \operatorname{Re} \langle W^{\tau^c} x, x \rangle \\
 &= \|x\|^2 + \|W^{\tau^c} x\|^2 - 2\operatorname{Re} \langle W^{\tau^c} x, x \rangle + 2\lambda \operatorname{Re} \langle W^{\tau^c} x, x \rangle \\
 &= \|x\|^2 + \|W^{\tau^c} x\|^2 - 2(1 - \lambda) \operatorname{Re} \langle W^{\tau^c} x, x \rangle \\
 &\geq \|x\|^2 - 2(1 - \lambda) \|W^{\tau^c}\| \|x\|^2 \\
 &= (1 - 2(1 - \lambda) \|W^{\tau^c}\|) \|x\|^2.
 \end{aligned}$$

For the inequality on the right hand side, we compute that

$$\begin{aligned}
 & \left\| \sum_{i \in \tau} \beta_i v_i \pi_{\mathcal{P}_i} S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x) \right\|^2 + 2\lambda \operatorname{Re} \sum_{i \in \tau^c} \beta_i v_i \langle S_{\mathcal{M}}^{-1} \pi_{\mathcal{M}_i}(x), \pi_{\mathcal{P}_i}(x) \rangle \\
 &= \|W^\tau x\|^2 + 2\lambda \operatorname{Re} \langle W^{\tau^c} x, x \rangle \\
 &= \|W^\tau x\|^2 + 2\lambda \|x\|^2 - 2\lambda \operatorname{Re} \langle W^\tau x, x \rangle \\
 &= \|W^\tau x\|^2 + 2\lambda \|x\|^2 - \lambda (\|x\|^2 + \|W^\tau x\|^2 - \|x - W^\tau x\|^2) \\
 &= (1 - \lambda) \|W^\tau x\|^2 + \lambda \|x\|^2 + \lambda \|W^{\tau^c} x\|^2 \\
 &\leq ((1 - \lambda) \|W^\tau\|^2 + \lambda (1 + \|W^{\tau^c}\|^2)) \|x\|^2
 \end{aligned}$$

for each $\lambda \in [0, 1]$, for any $x \in \mathcal{N}$ and any $\tau \subset \mathbb{I}$, and we have the result. \square

4. New inequalities

In this section, we give several new bilateral inequalities for fusion frames and, following the approaches of the results, one can easily establish corresponding bilateral inequalities for some other generalized frames such as K -frames, continuous fusion frames, Hilbert-Schmidt frames, K -g-frames and continuous g-frames etc, which admit new types of structures compared with the ones given in [1, 18, 20, 23, 24].

THEOREM 11. Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1} \mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for each $\lambda \geq 0$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned}
 & (1 - \lambda^3) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (2\lambda^2 - 2\lambda - 1) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\
 & \leq \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - \lambda \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 \\
 & \leq (1 + \lambda^3) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - (1 + 2\lambda^2) \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2.
 \end{aligned} \tag{26}$$

Proof. For any $x \in \mathcal{N}$, taking $y = U_{\mathcal{M}}x$ and normalize it to $\|y\| = 1$. Then the inequalities in (26) can be rewritten as

$$(1 - \lambda^3) + (2\lambda^2 - 2\lambda - 1)\|P_{\tau}^{\perp}y\|^2 \leq \|P_{\tau}y\|^2 - \lambda\|QP_{\tau}^{\perp}y\|^2 \leq (1 + \lambda^3) - (1 + 2\lambda^2)\|P_{\tau}^{\perp}y\|^2. \quad (27)$$

Since

$$\begin{aligned} f(\lambda) &= \|P_{\tau}y\|^2 - \lambda\|QP_{\tau}^{\perp}y\|^2 - (1 - \lambda^3) - (2\lambda^2 - 2\lambda - 1)\|P_{\tau}^{\perp}y\|^2 \\ &= \lambda^3 - (2\lambda^2 - 2\lambda)\|P_{\tau}^{\perp}y\|^2 + (\|P_{\tau}y\|^2 + \|P_{\tau}^{\perp}y\|^2 - 1) - \lambda\|QP_{\tau}^{\perp}y\|^2 \\ &= \lambda^3 - 2\lambda^2\|P_{\tau}^{\perp}y\|^2 + 2\lambda\|P_{\tau}^{\perp}y\|^2 - \lambda\|QP_{\tau}^{\perp}y\|^2 \\ &= \lambda(\lambda^2 - 2\lambda\|P_{\tau}^{\perp}y\|^2 + 2\|P_{\tau}^{\perp}y\|^2 - \|QP_{\tau}^{\perp}y\|^2) \\ &= \lambda((\lambda - \|P_{\tau}^{\perp}y\|^2)^2 + (\|P_{\tau}^{\perp}y\|^2 - \|P_{\tau}^{\perp}y\|^4) + (\|P_{\tau}^{\perp}y\|^2 - \|QP_{\tau}^{\perp}y\|^2)) \geq 0 \end{aligned}$$

for each $\lambda \geq 0$, meaning that the left-hand inequality in (27) holds. As for the inequality on the right, it is equivalent to show that

$$g(\lambda) = (1 + \lambda^3) - (1 + 2\lambda^2)\|P_{\tau}^{\perp}y\|^2 - \|P_{\tau}y\|^2 + \lambda\|QP_{\tau}^{\perp}y\|^2 \geq 0$$

for each $\lambda \geq 0$, which is obvious since

$$\begin{aligned} g(\lambda) &= \lambda^3 - 2\lambda^2\|P_{\tau}^{\perp}y\|^2 - (\|P_{\tau}^{\perp}y\|^2 + \|P_{\tau}y\|^2 - 1) + \lambda\|QP_{\tau}^{\perp}y\|^2 \\ &= \lambda^3 - 2\lambda^2\|P_{\tau}^{\perp}y\|^2 + \lambda\|QP_{\tau}^{\perp}y\|^2 \\ &= \lambda((\lambda - \|P_{\tau}^{\perp}y\|^2)^2 + (\|QP_{\tau}^{\perp}y\|^2 - \|P_{\tau}^{\perp}y\|^4)). \quad \square \end{aligned}$$

THEOREM 12. Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1}\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for each $\lambda \in \mathbb{R}$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned} &\lambda \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (\lambda - \lambda^2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ &\leq \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau}(x)\|^2 + \lambda \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\ &\leq (2 - 3\lambda) \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (\lambda^2 + \lambda) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2. \end{aligned} \quad (28)$$

Proof. For all $x \in \mathcal{N}$, we let $y = U_{\mathcal{M}}x$ and normalize it to $\|y\| = 1$. Then, we can rewrite the inequalities in (28) as follows:

$$\lambda\|P_{\tau}y\|^2 + \lambda - \lambda^2 \leq \|QP_{\tau}y\|^2 + \lambda\|P_{\tau}^{\perp}y\|^2 \leq (2 - 3\lambda)\|P_{\tau}y\|^2 + \lambda^2 + \lambda, \quad (29)$$

which, actually, follow from the computations

$$\begin{aligned} f(\lambda) &= \lambda^2 + \lambda + (2 - 3\lambda)\|P_{\tau}y\|^2 - \lambda\|P_{\tau}^{\perp}y\|^2 - \|QP_{\tau}y\|^2 \\ &= \lambda^2 + (2 - 3\lambda)\|P_{\tau}y\|^2 + \lambda\|P_{\tau}y\|^2 - \|QP_{\tau}y\|^2 \\ &= \lambda^2 - 2\lambda\|P_{\tau}y\|^2 + 2\|P_{\tau}y\|^2 - \|QP_{\tau}y\|^2 \\ &= (\lambda - \|P_{\tau}y\|^2)^2 + (\|P_{\tau}y\|^2 - \|P_{\tau}y\|^4) + (\|P_{\tau}y\|^2 - \|QP_{\tau}y\|^2) \geq 0, \end{aligned}$$

and

$$\begin{aligned}
 g(\lambda) &= \|QP_\tau y\|^2 + \lambda \|P_\tau^\perp y\|^2 - \lambda \|P_\tau y\|^2 + \lambda^2 - \lambda \\
 &= \lambda^2 + \lambda (\|P_\tau^\perp y\|^2 - 1) - \lambda \|P_\tau y\|^2 + \|QP_\tau y\|^2 \\
 &= \lambda^2 - 2\lambda \|P_\tau y\|^2 + \|QP_\tau y\|^2 \\
 &= (\lambda - \|P_\tau y\|^2)^2 + (\|QP_\tau y\|^2 - \|P_\tau y\|^4) \geq 0. \quad \square
 \end{aligned}$$

THEOREM 13. Suppose $\mathcal{M} = \{(\mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is a fusion frame for \mathcal{N} with the fusion frame operator $S_{\mathcal{M}}$, and $\mathcal{M}' = \{(S_{\mathcal{M}}^{-1} \mathcal{M}_i, \beta_i)\}_{i \in \mathbb{I}}$ is the dual fusion frame of \mathcal{M} . Then for each $\lambda \geq 2$, for any $\tau \subset \mathbb{I}$ and any $x \in \mathcal{N}$, we have

$$\begin{aligned}
 &(1 - \lambda^2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 + (\lambda - 2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2 \\
 &\leq \sum_{i \in \tau} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - \lambda \sum_{i \in \tau^c} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 \\
 &\leq (1 + \lambda^3) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i}(x)\|^2 - (1 + 2\lambda^2) \sum_{i \in \mathbb{I}} \beta_i^2 \|\pi_{\mathcal{M}_i} S_{\mathcal{M}}^{-1} S_{\mathcal{M}}^{\tau^c}(x)\|^2.
 \end{aligned} \tag{30}$$

Proof. The inequalities in (30) can be rewritten as

$$1 - \lambda^2 + (\lambda - 2) \|QP_\tau^\perp y\|^2 \leq \|P_\tau y\|^2 - \lambda \|P_\tau^\perp y\|^2 \leq 1 + \lambda^3 - (1 + 2\lambda^2) \|QP_\tau^\perp y\|^2, \tag{31}$$

if we take $y = U_{\mathcal{M}} x$ and normalize it to $\|y\| = 1$ for each $x \in \mathcal{N}$. To prove the inequality to the left, it is sufficient to show that

$$f(\lambda) = \|P_\tau y\|^2 - \lambda \|P_\tau^\perp y\|^2 - (1 - \lambda^2) - (\lambda - 2) \|QP_\tau^\perp y\|^2 \geq 0$$

for any $\lambda \geq 2$, which is obvious, since a simple calculation gives

$$\begin{aligned}
 f(\lambda) &= \lambda^2 - (1 - \|P_\tau y\|^2) - \lambda \|P_\tau^\perp y\|^2 - (\lambda - 2) \|QP_\tau^\perp y\|^2 \\
 &= \lambda^2 - \|P_\tau^\perp y\|^2 - \lambda \|P_\tau^\perp y\|^2 - (\lambda - 2) \|QP_\tau^\perp y\|^2 \\
 &\geq \lambda^2 - \|P_\tau^\perp y\|^2 - \lambda \|P_\tau^\perp y\|^2 - (\lambda - 2) \|P_\tau^\perp y\|^2 \\
 &= \lambda^2 - 2\lambda \|P_\tau^\perp y\|^2 + \|P_\tau^\perp y\|^2 \\
 &= (\lambda - \|P_\tau^\perp y\|^2)^2 + (\|P_\tau^\perp y\|^2 - \|P_\tau^\perp y\|^4).
 \end{aligned}$$

Additionally, observe that

$$\begin{aligned}
 g(\lambda) &= 1 + \lambda^3 - (1 + 2\lambda^2) \|QP_\tau^\perp y\|^2 - \|P_\tau y\|^2 + \lambda \|P_\tau^\perp y\|^2 \\
 &= \lambda^3 - 2\lambda^2 \|QP_\tau^\perp y\|^2 + \|P_\tau^\perp y\|^2 + \lambda \|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^2 \\
 &= \lambda (\lambda - \|QP_\tau^\perp y\|^2)^2 + (\|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^2) + \lambda (\|P_\tau^\perp y\|^2 - \|QP_\tau^\perp y\|^4) \geq 0,
 \end{aligned}$$

implying that the right-hand inequality in (31) is satisfied. \square

REFERENCES

- [1] F. ARABYANI NEYSHABURI, G. M. MINAEI AND E. ANJIDANI, *On some equalities and inequalities for K -frames*, Indian J. Pure Appl. Math., **50**, 2 (2019), 297–308.
- [2] R. BALAN, P. G. CASAZZA, D. EDIDIN AND G. KUTYNIOK, *A new identity for Parseval frames*, Proc. Amer. Math. Soc., **135**, 4 (2007), 1007–1015.
- [3] P. BALAZS, N. HOLIGHAUS, T. NECCIARI AND D. T. STOEVA, *Frame theory for signal processing in psychoacoustics*, in: R. Balan, J. Benedetto, W. Czaja, M. Dellatorre and K. Okoudjou (Eds.), Excursions in Harmonic Analysis, vol. 5, Appl. Numer. Harmon. Anal., Birkhäuser, Cham, 2017, pp. 225–268.
- [4] B. G. BODMANN, *Optimal linear transmission by loss-insensitive packet encoding*, Appl. Comput. Harmon. Anal., **22**, 3 (2007), 274–285.
- [5] P. BOUFONOS, G. KUTYNIOK AND H. RAUHUT, *Sparse recovery from combined fusion frame measurements*, IEEE Trans. Inform. Theory, **57**, 6 (2011), 3864–3876.
- [6] P. G. CASAZZA AND G. KUTYNIOK, *Frames of subspaces*, in: Wavelets, Frames and Operator Theory, in: Contemp. Math., vol. 345, Amer. Math. Soc., Providence, RI, 2004, pp. 87–113.
- [7] P. G. CASAZZA, G. KUTYNIOK AND S. LI, *Fusion frames and distributed processing*, Appl. Comput. Harmon. Anal., **25**, 1 (2008), 114–132.
- [8] A. CHEBIRA, M. FICKUS AND D. G. MIXON, *Filter bank fusion frames*, IEEE Trans. Signal Process., **59**, 3 (2011), 953–963.
- [9] O. CHRISTENSEN, *An introduction to frames and Riesz bases*, Birkhäuser, Berlin (2016).
- [10] F. DAI, *Characterizations of function spaces on the sphere using frames*, Trans. Amer. Math. Soc., **359**, 2 (2006), 567–589.
- [11] I. DAUBECHIES, A. GROSSMANN AND Y. MEYER, *Painless nonorthogonal expansions*, J. Math. Phys., **27**, 5 (1986), 1271–1283.
- [12] R. J. DUFFIN AND A. C. SCHAEFFER, *A class of nonharmonic Fourier series*, Trans. Amer. Math. Soc., **72**, 2 (1952), 341–366.
- [13] M. FORNASIER, *Decompositions of Hilbert spaces: local construction of global frames*, Proc. Int. Conf. on Constructive Function Theory, Varna, 2002, B. Bojanov Ed., DARBA, Sofia, 2003, pp. 275–281.
- [14] Y. L. FU AND W. ZHANG, *Some new inequalities for dual continuous g -frames*, Mathematics, **7**, 8 (2019), Article 662, 15 pp.
- [15] P. GĂVRUȚA, *On some identities and inequalities for frames in Hilbert spaces*, J. Math. Anal. Appl., **321**, 1 (2006), 469–478.
- [16] P. GĂVRUȚA, *On the duality of fusion frames*, J. Math. Anal. Appl., **333**, 2 (2007), 871–879.
- [17] D. W. LI AND J. S. LENG, *On some new inequalities for fusion frames in Hilbert spaces*, Math. Inequal. Appl., **20**, 3 (2017), 889–900.
- [18] D. W. LI AND J. S. LENG, *On some new inequalities for continuous fusion frames in Hilbert spaces*, Mediterr. J. Math., **15**, 4 (2018), Article 173, 15 pp.
- [19] C. POON, *A consistent and stable approach to generalized sampling*, J. Fourier Anal. Appl., **20**, 5 (2014), 985–1019.
- [20] A. PORIA, *Some identities and inequalities for Hilbert-Schmidt frames*, Mediterr. J. Math., **14**, 2 (2017), Article 59, 14 pp.
- [21] W. SUN, *Asymptotic properties of Gabor frame operators as sampling density tends to infinity*, J. Funct. Anal., **258**, 3 (2010), 913–932.
- [22] Z. Q. XIANG, C. X. LIN AND X. C. XIAO, *Inequalities for fusion frames in Hilbert spaces with new structures*, Math. Inequal. Appl., **27**, 3 (2024), 745–758.

- [23] X. C. XIAO, G. R. ZHOU AND Y. C. ZHU, *New equalities and inequalities of K - g -frames in subspaces*, *ScienceAsia*, **45**, 4 (2019), 380–387.
- [24] W. ZHANG AND Y. Z. LI, *New inequalities and erasures for continuous g -frames*, *Math. Rep.*, **20**, 3 (2018), 263–278.

(Received February 16, 2025)

Zhong-Qi Xiang
School of Mathematics and Computer
Xinyu University
Xinyu, Jiangxi 338004, P.R. China
e-mail: lxsy20110927@163.com

Yu-Xian Chen
School of Mathematics and Computer
Xinyu University
Xinyu, Jiangxi 338004, P.R. China
e-mail: xygzcyx@126.com

Chun-Xia Lin
Academic Affairs Office
Xinyu University
Xinyu, Jiangxi 338004, P.R. China
e-mail: 2449886300@qq.com